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General Instructions:

1 This question paper comprises two Parts — A and B. There are 30
questions in thequestion paper. All questions are compulsory.
2 Part A is compulsory for all candidates.

3 Part B has two options i.e. (1) Analysis of Financial Statements
and (2) Computerized Accounting. You have to attempt only one of
the given options.

4, Question nos. 1 to 10 and 23 — 27 are very short answer type questions carrying
1 mark each.

5. Question nos. 11 - 15and 28 are questions carrying 2 marks each.

6. Question nos. 16 to 20 and 29 are questions carrying 3 markseach.
7 Question nos. 21, 22 and 30 are questions carrying 5 marks each.

8 There is no overall choice. However, an internal choice has been
provided in 2 questions of two marks, 2 questions of three marks and
all questions of Five marks.

GIHT fAor:

7.

2
3.

SH 9T 9T H gF 1T & - T 3N & ge7r 97 H 30 goor &1 TH goer
ifaart &1

T T GH 3FHIGaRT & felv 3ifaard 8/

1T & H gl fawew & 3T (1) AT faavon #r faeeyor ik

(2) FFYSRIPT G| HT9H G0 0 faFedl H & Fdel TH Fl §ol el
&/

g7 FEIT 1 & 10 3R 23 & 27 dobfoasd g9 &8 & & fow 1

iF FEURT & 1

goT HEAT 11 & 15 3N 28 3ifa &g ITIT 997 &, 9c9% & [Av 2 3%
fFeriRe &)

god HEIT 16 & 20 3R 29 &g FIT g9 &, qcd% & [elv 3 3wl fFeiRa
&1

o7 FEIT 21, 22 3R 30 &1 3THIT 797 &, 9cdah & [olv 5 3 [FEiRa &1

THT &9 & Fis AFcqg 781 &1 gretiia, at 3l & 2 gea1 H dla 3 & 2
g7l # 3k gra 3B’ & GH geal A vk HIARF faweq garer faar arar &
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(Accounting for Partnership firms and Companies)
(Tl wAl 3T Fufat & Qv ' rse)

Q1 Any Change in the Relationship of Existing Partners which results in an end of the

existing agreement and enforces making a new agreement is called (1)
(a) Revaluation of Partnership (c)Reconstitution of Partnership
(b) Realization Of Partnership (d)None of these

AT AEERT & H6 H IS IRAe fordeh TRUTATERT His[gT FHASIAT FATCT
g ST § 3R Ue a1 FASar e & TolT ared adr g, delldl o

(31) WS & G oAiehet (&) ErSIeT 1 geAdraet
() @R & wfea (&) 318 | HIg QT

Q2 What treatment is made to accumulated profit and losses on the retirementofa (1)
partner?
a. Credited to all Partner’s capital Account in Old ratio
b. Debited to all Partner’s Capital Account in Old ratio
c. Credited to remaining Partners Capital accounts in new ratio
d. Credited to remaining partners capital accounts in gaining ratio
Tsh AR $T Yarfaigia T HRIT oy 3R gifad & forw o1 suer fam sirar g7
(31) Tl AIPERT & Yol Wi & Q& 3fq0red & shise fohar arr
(@) FHIERT & Yoll T N WMol 391 7 sfae fomar amar
(W)Y AR & ol @il H AT 3qard 7 AT fmar aram
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(@)Y WHERT F ot Wi H HTHTH 3571 H ST Forvam ara

Q3 Reserve Capital is a part of: (1)
(a) Paid-up Capital
(b) Forfeited share capital
(c) Capital to be called up only on liquidation of company
(d) Assets

HRf&T gah &

(37) Sl Yait T TaT

(&) STecd 37er Yolt T &TT

(H) FFIel & FAGS 9T AL Sel aTell Yol &l AT
(€) GFIfd T 1T

Q4 The Relation of Partner with the Firm is that of . (1)

BH & G FEER & qaY & gl

Q5 At the time of dissolution of partnership firm, journal entry for the settlement of (1)
loan advanced by the firm toa partner would be:

el B & faged & FAI, BH ¢aRT FSieR HI f&ar 7w xor & fow AS=raar
giafse gref:

a |Bank Alc Dr.
To Loan to Partner Alc

b | Loan to partner A/c Dr.
To Bank Alc

¢ | Realization Alc Dr.
To Loan to Partner Alc

d | None of these

31 | Bank Alc Dr.
To Loan to Partner Alc

§ | Loan to partner Alc Dr.
To Bank Alc

¥ | Realization A/c Dr.
To Loan to Partner A/c
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Z | None of these

Q6 Give one Circumstance in which Sacrificing Ratio may be applied. (1)
v gREUld fAf@T fSHH T 3egard o] fahar ST Fenar g

Q7 Assertion(A): A Loan from a partner is not transferred to Realisation Account. (1)

Reason (R): A loan from a partner is not an external liability but is discharged before
Payment of Capital.

(a) Assertion (A) and Reason (R ) are correct but Reason (R ) is not the correct explanation
of Assertion(A)

(b) Both Reason (R ) and Assertion (A ) are correct and Reason (R ) is the correct
explanation of Assertion (A)

(c) Only Assertion (A ) is correct

(d) Both Assertion (A) and Reason (R ) are not correct.

YT (A): UF WHER F AT T HOT IR WA H TAGRT AL
T Sirar 2
HROT (R) : Th HIGR & forar a1 %07 §1ed arfdcd =61 ¢ dfesd ol
aodll & gge YT ST &

(37) (A) 3R FROT (R) T & ifhed HROT (R) AfAFYUT (A)
T Tl TISCIT el gl

() FROT (R) 3R ATFRYA (A) il Fer § AR FROT (R) ATARUA (A)
$r Ty sarEar T

(@) Fad A’ARYA (A) FET B

(&) 3TRFHYT (A) 3R FROT (R) AT TeY =T8T &

Q8 Assertion(A ): Balance at Bank is transferred to Realisation account. (1)

Reason (R ): Balance at Bank is not to be realized but instead distributed in its Present
Form

(a) Assertion (A) and Reason (R ) are correct but Reason (R ) is not the correct explanation
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of Assertion(A).
(b) Both Reason (R ) and Assertion (A ) are correct and Reason (R ) is the correct
explanation of Assertion (A ).
(c) Only Assertion (A) is correct.
(d)Assertion (A ) is not correct but the Reason (R ) is correct.

HARYT (A): 8 H AV A Tl WA A FUAART &I S gl
HROUT (R): seh H AW TRA ST qHell 181 gl AT, dfesd adART §9 H
aRa Far ST arfge |

(31) HfAFYUA (A) IR FHROT (R) WL § lfched HROT (R) AHTHFUA (A) T
TET TASEIRIOT AT ¢

(§) SRUT (R) 3R JAFFRUA (A) AT Tl & 3R FROT (R) AARUT (A) Fr
Ter grEr B

(@) o A’ARYA (A) FET

(@) HTHFHUA (A) TE AT & olfehel HROT (R) HET &

Q9 What is the name given to the ‘Part of Capital’ of a company which is called up only (1)
on winding up ?
Yol & 3 HET & &1 ATH AT I-1 §, ST Shdel el & FAI W & Alam
ST & ?

Q10 Premium on Redemption of Debentures is Account. Q)

FHUMqAT & Argd X NfATA rar gl

Q11 Give any 2 points of Distinction between Shareholders and Debenture holders.  (2)
IR 3R FHogFerd & &g ar IR fAf@w |

Q12 W and S are equal Partners. Their Capital are Rs.40,000 and Rs 80,000 2)
respectively. After the accounts for the year are prepared, it is discovered that
Interest on Capital @ 10% is not credited to the capital Accounts before distribution
of Profits. Make necessary adjusting Journal entry.

W 3R S ST & WEIER g1 3T Ioit FHAQr: 40000 T9 3R 80000 F0 g1 ¥ &
T @I IR 6 & di¢ Ig IdT Tl g, fob AsieRl IHsid & 9 T a7 10%
gfday & ax & g T TR, M F AR & gge WHGRT Hr GOl Wi H AT AT
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T TS| IPT aY Y YEIATT A FARNSA Gl w1 Ao forr i | 3T
SteTel gfafsedm Y|
OR 3yar
Explain any 2 features of Partnership.

TEERT T A5 ar AAYAT Fasy |

Q13 A firm’s Average Profit is Rs 70,000. It Includes an abnormal Profit of (2)
Rs5,000. Capital invested in the Business is Rs 5,50,000 and the Normal rate of
Return is 10%. Calculate Goodwill of the firm at 4 years purchase of Super Profit.

Teh Ba &l AFd ome 70,000 g1 38 5,000 T9F & Tk FAHAGT oiH A B
qET %ﬁmﬁaqsﬁwoooom%am e T grETT & 10% g1 3ifeamT &
4mé€a¢mmﬁ IUTT FIfT|

OR JAYar
Explain any four factors of Goodwill.

Earfa & fheel IR d<al &l guld shIfaiv|

Q14 A and B are Partners in a firm sharing profit in 3:2 ratio. They admitted (2)
C as a new Partner and the new profit sharing ratio will be 2:1:1. C brought
Rs1,00,000 for his share of Goodwill. Pass necessary journal entries in the

books of new firm for the above transactions.

AWBWﬁﬁBZ%quldﬁqudgﬂ 81 3 C & A7 @R & &9 H
AT & § AT AT A FI I 2:17 gl C e Ry A wmanfa & faw
100000 &9 el g1 3ugerd deced & ot B & @rdl & 39eTF Feror gafsear
FifaT]

Q15 Give any 2 points of distinction between Sacrificing ratio and Gaining Ratio. (2)

AN I 3R H-JICT 3T & o a6 3R acrsv|

Q16 From the following information complete Journal entries. (3)

fes FEar & R W Seie Fiafsedr qor Hiie |

Date Particulars L.F Debit(Rs) Credit(Rs
)
Share Capital A/c Dr. ?
Securities Premium Reserve A/c Dr. 1,000
To share forfeiture A/c ?
To Calls in Arrears Alc 3,500
(Being ___?  shares forfeited for non-

7
Haryana Board Of School Education, Bhiwani



Sample Paper Accountancy 121" (2023-24)
payment of Rs__?_including premium
2per share )

Bank Alc Dr.
Share Forfeiture A/c Dr. "

To Share Capital Alc )
(Being __?__ shares reissued at Rs9 per
share as fully paid)

Share Forfeiture A/c Dr. 600

To Capital Reserve Alc 2
(Being forfeiture money transferred money
transferred to capital reserve)

Dr. Share forfeiture A/c Cr.
Date Particulars Amount Date Particulars Amount
To share Capital Alc ?
To capital reserve Alc 600 By Share Capital A/c 1500
To balance c/d 600
1500 1500

(Face value of share is Rs10 each) (=R &1 3ifehd Hea 10 29 i IR

Q17 Pass necessary journal entries in the following cases on the dissolution of a  (3)
partnership firm.

(i) Realization expenses of Rs.5,000 were to borne by X, a partner. However, it was paid
by Y.

(i)  Y’sloan of Rs.50,000 settled at Rs. 48,000.

i) ~ Machinery (book value Rs.6,00,000) was given to creditor at a discount of 20%.

eafaf@d Arel § v TRl B & [Jged W 3ags Aorqar gfaftear Hifav|
(i) 5,000 TG FH T FT Teh WSGR X EART dgel fhdT ST AT|  EleAlieh, SHebI

ST Y SarT foham arar
(i) Y &7 °50,000 ¥9F T FOT' 48,000 ¥IF W T §3;|
(iii) T FME (T 7T 6,00,000 FTA) 20% FeC& W & TS|

Q18 Give Journal entries for the Issue of Debentures in the following conditions: (3)

(1) Issued 2,000 12% Debentures of Rs 100 each at par, Redeemable also at par.
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(2) Issued 2,000 12% Debentures at a discount of 2%, redeemable at Par.
(3)Issued 2,000 12% Debentures of Rs 100 each at a Premium of 5%, redeemable at par.

frfafaa Rufaar & ot & et & o Ao gfaftear e
(1) 100 9 &, 2,000 12% HoraT S U 7w, Y FAAT W 9fdeT gl
(2) 2,000 12% FOYT 2% H Y& W T T 7T, FAHT R 9ideT gl
(3) 5% & WfATA W 100 IR & 2,000 12% HOMT IR FT T, FAAT W 9facT gl

Q19 X starts a Business on 1% January2002 with Rs 5,000. Y joins on 1% May2002 (3)

with Rs 10,000. On 1%t July , Z joins in as a partner with Rs 15,000 and on the same date X
contributes Rs 5,000 and Y Rs 10,000 as further capital. The Profit for the year ended 31*

December 2002 amounted to Rs 16,000. The Partners agree to share profit in proportion of
their capitals. You are asked to show distribution of the profit at the end of accounting year.

X 1 Sfefadt 2002 @Y 5,000 ¥9F & Y Ueh A Y& A g1 Y, 1#HS 2002 & 10,000
I & G AMAS BT &1 1 FJellS I, Z, 15,000 39T & HY Teh AISNER & & H AT §rer
¢ 3 38 a’r@ & X 5,000 F9F 3 Y 10,000 ¥ IfAREFT GGl & & 7 FegT &7 &1 31
fedeX 2002 T gATCT a¥ & AT o137 16,000 TUF AT WER I Goll & 3HeJdred H st
s et & foIT gAd &1 39! o@r ay & 3id & oy &1 Aawor R@= & fav Fgr Jrar
gl

OR 3r4dr

If the Partner’s capital Account is Fixed where will you record the following items:

(1) Drawing made by a Partner (2) Salary payable to a partner
(3) Share of Profit (4) Fresh capital Introduced by a Partner
(5) Interest on drawings (6 ) Interest on Capital

Ife ATSleR 1 Yot TiaT BRI & o 39 AeAfafl@d ae I gl gof i

(1) HEIGR GaRT HTET (2) EIBER HT T Add
(3) omeT @1 feeam (4) T HISIGR @R o@ls 315 o5 Yail
(5) 3BT W =T (6) Yeit 9X STl
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(3)

retired and his share was acquired by A and B equally. Goodwill was valued at 3 years

purchase of average profits of last 4 years which were Rs 40,000.
General reserve showed a balance of Rs 1,30,000 and D’s capital in the Balance Sheet
was Rs 3,00,000 at the time of retirement. You are required to record necessary journal
entries in the books of the firm.

A B C 3T D o7 &1 1:2:3:4 & 30]0Td # WIS Hlel dled AISeR gl D Qarfagd g ar
g 3R 3uer fFear A 3R B garT sIeR &ieT 9137 §1 T &l H{edichel oo 4 asi &
3iaa ot fr 3 T i Wl W FAr =3 an, e 4000 9T 7| AT Red &
130000 39T &1 AY fe@rar 2 o1 3R Ffd fAawor & D &1 Goif darfaghy & Ty
300000 T9T & o I GEAHl H ITaTH Sovel Tiaedr |

Q21 Sunaina and Tamanna are partners in a firm sharing profits and losses in the (5)
ratio of 3:2. Their Balance Sheet as at 5" March, 2020 stood as follows:
AT 3R THeAT Toh B H AgieR § 3R 3:2 & 3equid #H ome-giiel died ¢
5 AT, 2020 & 3T doid fe 37 yR AT
Balance Sheet
Liabilities S dTT Amount Rs. | Assets §FqferdT Amount Rs.
Capital Accounts: Plant & Machinery
ot T e AR w7 1,20,000
Sunaina Qflﬁ?-lT 60,000 Land and Building 1,40,000
Tamanna d&#He=T 80000 qfFH IR et
1,40,000
Current Accounts: Debtors é\am 1,90,000
dTe] QIdT: Less: Provision for
Sunaina o=l 10,000 Doubtful debts
giceerd EEUTT *
Tamanna d&HeT 30,000 40000
General Reserve fore graen (40,000) 1,50,000
AT BN 1,20,000
Stock Tl 40,000
Workmen’s Compensation Reserve
FHTY el P 50000
A Cash 30,000
Creditors oleIGRR 150000 | FreE
Goodwill 20,000
Taifa
10
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5,00,000 5,00,000

They agreed to admit Pranav into partnership for 1/5th share of profits on 1st April,
2020, on the following terms:
(a) All Debtors are good.
(b) Value of land and building to be increased to Rs.1,80,000.
(c) Value of plant and machinery to be reduced by Rs.20,000.
(d) The liability against Workmen’s Compensation Fund is determined at
Rs.20,000 which is to be paid later in theyear.
(e) Pranav to bring in capital of Rs.1,00,000 and
Rs.10,000 as premium for goodwill in cash.
Prepare Revaluation Account, Capital Accounts and
Balance Sheet of the Reconstituted Firm.

d 1 31, 2020 I YUrd I HAh & 1/5d Red
& for Amafaf@d odf W) asery 7 afFe s
& fav weAd g

(37) @ &IGR 3 B
(&) A AR s1aeT &1 FHed %1,80,000 deh Sor T o

gl
(@) "I 3R #AMeA &1 F{eg 320,000 HA T
ST 2

(&) FHIR F3MaeT A & Qe darar 320,000
W AR & Sl § 58 ae 7 a¥ 7 sgarare
frar ST 2

(3) worg %1,00,000 #Fr Yair 3R 10,000 NfATA &
® H &IIfa & v dehg A o)

JeTa{edichel WIcll, Yoil Wil AT GeTITST ®a T
feufa faavor IR hifav|

OR 3rgar

What are the reasons for need of a new Partner in a
Business? Explain the Accounting treatment of Goodwill
when the new partner brings his share of Goodwill in
Cash.

TG H AT IrEieR T 3TaeThdl & FIT HRUT 8?7 oI
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AT IEleR 39 eXd fr ©fad & Aog & orar g ar
EIIfa & oW@Tehed 39TR T ATEAT HITAT|

Q22 Zocon Ltd. issued a prospectus inviting applications for 5,00,000 equity shares of Rs10
each issued at a premium of10% payable as: (5)
Rs3 on Application
Rs5 on Allotment (including
premium)and Rs3 on call.
Applications were received for 6, 60,000 shares.
Allotment was made as follows:
(@)  Applicants of 4, 00,000 shares were allotted in full.
(b)  Applicants of 2, 00,000 shares were allotted 50% on pro rata basis.
(c)  Applicants of 60,000 shares were issued letters of regret.
A shareholder to whom 500 shares were allotted under category (a) paid full amount on
shares allotted to him along with allotment money. Another shareholder to whom 1,000
shares were allotted under category (b) failedto pay the amount due on allotment. His
shares were immediately forfeited. These shares were then reissued at Rs14 per share as
Rs7 paid up. Call has not yet been made. Journalise.

Siilel fofaes & e gfgavor o3 It fhar o d 9% 10 392 & 5,00,000 FHAT RRT
& T 10% & NfATA W IR U 910 3mag 3mARa e 9
'3 3AgA W
3Tdesd W 35 (AT Tfgd) 3R I3 Fra W
6,60,000 H%ﬁ%%trama?rwgm
37TaceT 89 Yok fohdT Iram o
(37) 4,00,000 RRT & 3HTdcent I qUT &7 ¥ 3died fhar am=m
(8) 2,00,000 RRT & HTdeehl @I U IR W 50% 3afed fohar

7|
(&) 60,000 RRT & 3Tdeah A We F 97 IR fFT a0 & v RRURS G Aofr (31) &
dgd 500 R Imafed fFU v A, 3@ rdesd UMW & @y afed AW w qf afyr @@
AT TohaT aT|  Ueh 310 IXURH, 5 1,000 AT Aol (9) & g 3mdied e aw
9, 3Tdee W &I AR & AT il H Tahel QT 3eTeh AR &l A STecd Y Tordm 1T
goT RRT AT dd 14 9fd QW W I7 & 1A b & A B & IR fowar am@r an) - @i
3790 Tk AAET ALY IS g1 Stevel gfaffsar & |

OR 3Yar

Write Short Notes on the Following:

12
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o1 o9 gfaieq feoqur forw
(1) Calls-in-Advance 3131 Ira=r
(2) Calls-in -Arrears sshrar AT<=AT

Part— B
HIT-9
(Analysis of Financial statements)

T ot &1 faeawor

Q23 Name any 2 Items that can be disclosed under ‘Short Term Provisions’. (1)
fhegl 2 Gl & ATH IV [SleTeh! '3cUehlioleh TIGYTT & dgd G2 ol
ETINY

Q24 Which of the following is not a part of Finance Cost (in statement of profit Q)
and loss)?

(a)Bank Charges (b) Interest Paid on Debentures
(c)Interest Paid on Public Deposits  (d) Loss on Issue of Debentures

fArafaf@a & @ #i9 ar O arg &1 Rear J8 & (@ g fJavor 7)?
(31) s el (&) ROTIT W AT M AT
(&) HTSlieleh STAT 9T SATS ATl (§) ROTIT ST &del U fehdle]

Q25 Cash Flow Statement is Prepared for financial Planning of range. (1)

Uhs varg fQavor o araar & fov aIr foear Srar gl

Q26 Assertion(A): Activity Ratios are the ratios that are calculated for measuring the
efficiency of operations of business based on effective utilisation of resources. (1)

Reason (R): Current Ratios and Quick ratios are liquidity ratios.

(a) Assertion (A) and Reason (R ) are correct but Reason (R ) is not the correct
explanation of Assertion(A )

(b) Both Reason (R ) and Assertion (A ) are correct and Reason (R ) is the correct
explanation of Assertion (A)
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(c) Only Assertion (A) is correct

(d) Both Assertion (A ) and Reason (R ) are not correct.

Q26 HHHY (A): IMATAT T I 3HeIUTeT & TSiTehl ITUTAT HEATLEAT & FTEr 3UGeT &
YR W I & HATelel I G&TdT &l Al & foIw Fr 7T gl (1)

SROT (R): TR 3691 3R caRd 36did aeldl 3eurd g1 .

(©) 3fAFTT (A) 3R FROT (R) TE § AftheT FROT (R) JfRFTA (A) FT TEY TICERT 76T §
(@) FROT (R) 3R HARUT (A) Sl Tl & 3R HROT (R) HTHRUT (A) T HE TSR &
() hael IfAHTT (A) TEr §

(31) 3R (A) 3N HROT (R) &t FEY 8T ol

Q27 The may indicate that the firm is experiencing stock outs and lost sales. Q)

(a)Average payment period
(b)Inventory turnover ratio

(c)Average collection period
(d)Quick ratio

Hehl & Whell © T ®H Fleh IHe]deletiar 3R @ g‘s" CEARC I CECIE T e

3) G Tt rafe
) mmﬁm
T) 3Ed dIE IEm
g) el 3Heurd

I
(
(
(
(

Q28 Under what Headings will you show the following items in the Balance Sheet of (2)
the Company?
(1) Balance with Banks (2) Investment In debentures

(3) Outstanding salary (4)Authorised Capital
Th hiell & Jolol-97 H AeATAAT el 319 fohet fdent & 37cretar fe@riar
?

(1) St & 9/ AV AMRA (2) HKorgT # fAder
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(3) ST I (4) 3T gt

Q29 Calculate proprietary ratio, if Total assets to Debt ratio is 2:1. Debt is Rs.5,00,000.
Equity shares capital is 0.5 times ofdebt. Preference Shares capital is 25% of equity
share capital. Net profit before tax is Rs.10,00,000 and rate of tax is 40%. (3)

TAIACT 3T &I 0T Y, Iie Fel HUR AT FKOT AHeqardd 2:1 81 K0T 5,00,000 T4

gl
GHCT 3Q0, Yot KT & 0.5 [T g1 YATHR 37T Yol gibael T 25% gl
Y qd YSH @7 10,00,000 F0F § AR T HT T 40% B

OR 31yar

What is Ratio? Explain any 2 utilities of Ratio Analysis.
3T T §? 37T faeeiwor & IS & 3YAFNAT Fdrw |

Q30 From the following particulars, Prepare Cash Flows from Investing activities: (5)

A= [Qaor ¥, Ueps yarg faaor fr [ afaffer sa e

Purchased Sold
Building  &deT 4,00,000 2,00,000
NON-Current Investment 2,00,000 3,00,000
IR e feraer
Goodwill &aTfaY 1,00,000 L
Trade Marks aTqTRe &g 1,50,000

Interest Received on Debentures held as Investment Rs 10,000. Dividend Received on
Shares Rs 5,000. A Plot of Land was purchased out of Surplus Funds for Investment
purposes and was let out for commercial purposes and Rent received Rs 20,000.

10,000 T & fIder & ®9 H W 9T RKOGT W Wed sqlef| AR G 9ot
arerer % 5,0001 AHEAY fAfr & @ faer & 36T A A T T @S HI
forar rr auT egaETRIe 3eged ¢ TRy WY fedr I @ur 20,000 T T

IETIE) red g3
OR 3 Yar

What is the Cash Flow Statement? State any 4 objectives of preparing Cash flow Statement.
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UFhs garg faavor 7 §?  Uhs Yaig fAaRur daR el & &g IR 3652 Jarsy|

Part — B
(Computerised Accounting)
Q23 Name any two components of computerized accounting system . (1)

HFGEAFHd @M JoTell & fFedl ar geshi & a1 fAf@u |

C

Q24 Computerised Accounting system takes (i)___as inputs which are processed (1)
through (ii) togenerate reports.
FFICAFHA @l JoTell H FAYC & T H A § O qHRT AT e §

RAE IR = & fav & HIEIH b

Q25 The data is classified for creating groups of accounts in the heads of : (1)
(A) Assets, Liabilities and Capital
(B) Assets, Owners’ equity, Revenue and Expenses

(C) Assets, Capital, Liabilities, Revenue and Expenses
(D) Capital, Revenue and Expenses

gral & g F A & fov ST A eAfafad & oY 7 aeffea fmar
IRT g

(37) |UTd, AT 3R gl

() gufa, arfasr & sFad, Tereg 3R o

(@) |U, Yait, Selariat, Tered 3R =g

(@) qoit, Tered 3R a7

Q26 Al : E2 in Excel refersto : (1)
(A) Column on Excel sheet
(B) Row on Excel sheet

(C) Column between start and end points of Excel sheet
(D) Alphabets between A to E on Excel sheet.

Al : T H E2 Hefeid adr § :
(T) T e W FicH
(&) TFae e 9 9fFd
(@) v ofie & gRE 3R 3T fSgait & o wierA
@) TS T W T F § & g &R
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Q27Which of the following is not a limitation of Computerised Accounting system? (1)

(A) Data may be lost or corrupted due to power interruptions.
(B) Datais prone to hacking.

(C) Data is not made available to everybody.
(D)Unprogrammed and un-specified reports cannot be generated

frafaf@d & § Fi9 Frogeded a@r gomel & @A a8 &2 (1)
(31) TSt hr Tohrae & SHROT 3T @ AT ¥ g Hehell gl

() 3eT gfFer & faT gaor 81

(F) 3eT & frdr & faT 3uaredr g7 aEr SATar gl

@) IS 3R FABAGse RAE 3cqea A HT T Fohalr

Q28 Explain ‘Sequential’ and ‘Mnemonic’ codes. 2)
'HeTshiAeh' R AHANAS ISt S gEdr H|
Q29 What is meant by a graph? Explain any of its 2 advantages. (3)

AqH F FIT AT §? S8 fohogl 2 oMl T saTEam HIfIT|

OR 3ryar

Explain any three types of vouchers used for entry in Tally software with the help of
examples.

ol IiFedaT & U & fow yAier g1y arel fohedl died Wbk & a13eR’i T 3c1eIon i
EIdl ¥ SIT&AT AT |

Q30 Identify the error that appears when there are invalid numeric values in a (5)
formula or function. How can this error be rectified? Explain.

forell qF AT BRI A AT FEIIcHS A gl X @S & arelr e 1 yg=ei| 56
I N FH GURT ST Fohcl §?  IEAT HTAT|

OR 3ryar

Give an example of payroll template using spreadsheet taking imaginary figures.

FIeqfaieh 3R oot drell TIS2MNe T ITANT g g T SFIAE T 30T &
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